MATHS

BOOKS - ICSE

PERCENTAGE

Solved Examples

1. Express each of the following as a fraction :

16 %

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VHZuT4hzagSS

2. Express each of the following as a fraction :

125 %

o Watch Video Solution

3. Express each of the following as a fraction :

2.4 %

o Watch Video Solution



https://dl.doubtnut.com/l/_VHZuT4hzagSS
https://dl.doubtnut.com/l/_ua0S3QnPdDya
https://dl.doubtnut.com/l/_6imj08r7VuFa

4. Express each of the following as a fraction :

65%

o Watch Video Solution

5. Express each of the following as a decimal :

13 %

o Watch Video Solution



https://dl.doubtnut.com/l/_bj8O7UM3T9ce
https://dl.doubtnut.com/l/_tvXjkmQ0q5gA

6. Express each of the following as a decimal :

7%

o Watch Video Solution

7. Express each of the following as a decimal :

240 %

o Watch Video Solution



https://dl.doubtnut.com/l/_XO9IWfIHgDRd
https://dl.doubtnut.com/l/_YfrCndiarMcZ

8. Express each of the following as a decimal :

1
265 Yo

o Watch Video Solution

9. Express each of the following as a ratio :

12 %

o Watch Video Solution



https://dl.doubtnut.com/l/_g6sTnAgbIMeU
https://dl.doubtnut.com/l/_uUc4FxC0Orqo

10. Express each of the following as a ratio :

70 %

o Watch Video Solution

11. Express each of the following as a ratio :

7.5 %

o Watch Video Solution



https://dl.doubtnut.com/l/_0it5a7YPVTTz
https://dl.doubtnut.com/l/_evPj1vDvbEM4

12. Express 32 % as a

fraction

o Watch Video Solution

13.Express 32 % as a

decimal

o Watch Video Solution



https://dl.doubtnut.com/l/_FoTtz24uUFJ1
https://dl.doubtnut.com/l/_5gsMzdfNs0gA

14. Express 32 % as a

ratio

° Watch Video Solution

15. Express each of the following as a

percentage :

3

4

° Watch Video Solution



https://dl.doubtnut.com/l/_Ll9Oj4S9fu1h
https://dl.doubtnut.com/l/_knUkjjZHpkSc

16. Express each of the following as a

percentage:

1

6

o Watch Video Solution

17. Express each of the following as a

percentage:

5

o Watch Video Solution



https://dl.doubtnut.com/l/_F43yeDaZHfeW
https://dl.doubtnut.com/l/_IfaquLts1SvJ
https://dl.doubtnut.com/l/_PlG1uHapVnBr

18. Express each of the following as a

percentage:

23
5

o Watch Video Solution

19. Express each of the following as a

percentage:

0.3

o Watch Video Solution



https://dl.doubtnut.com/l/_PlG1uHapVnBr
https://dl.doubtnut.com/l/_Sp0IXLAwmmDj
https://dl.doubtnut.com/l/_LSquc0c2iSOa

20. Express each of the following as a

percentage:

0.6

o Watch Video Solution

21. Express each of the following as a
percentage:

2.005

o Watch Video Solution



https://dl.doubtnut.com/l/_LSquc0c2iSOa
https://dl.doubtnut.com/l/_pE1xSiFp1v2p

22. Express each of the
percentage:

3.2

following as a

o Watch Video Solution

23. Express as a percentage :

3:4

o Watch Video Solution



https://dl.doubtnut.com/l/_x0pj4kvqXQ8I
https://dl.doubtnut.com/l/_ERKClgGcSdhG

24. Express as a percentage :

8:125

o Watch Video Solution

25.Find :

15% of Rs 70

o Watch Video Solution



https://dl.doubtnut.com/l/_w5VnaH2CRt2V
https://dl.doubtnut.com/l/_8myswRgXGtcH

26.Find :

1
125 % of 56 kg

o Watch Video Solution

27.Find :

4 % of (1 hour15min.)

o Watch Video Solution



https://dl.doubtnut.com/l/_7rnYyRthp8A2
https://dl.doubtnut.com/l/_OnXPcM7tZ8LG

28. Express :

65 paise as a per cent of Rs 5

o Watch Video Solution

29. Express :

240 g as a per cent of 3 kg 600 g

o Watch Video Solution



https://dl.doubtnut.com/l/_RdErWj0uzEZl
https://dl.doubtnut.com/l/_YWkSAPR4PuAE

30. Express :

80 cm as a per cent of 2 m 50 cm

o Watch Video Solution

31.Increase 80 by 15 %

o Watch Video Solution

32. Decrease 60 by 35 %

o Watch Video Solution



https://dl.doubtnut.com/l/_ejKyg1nzrmf5
https://dl.doubtnut.com/l/_dpNGEBFWuXr1
https://dl.doubtnut.com/l/_arPotEuatX8h

33. Find the number which when increased by

12 % becomes 840.

o Watch Video Solution

34.Find the number which when decreased by

15 % becomes 680.

o Watch Video Solution



https://dl.doubtnut.com/l/_arPotEuatX8h
https://dl.doubtnut.com/l/_Acq3ywbHj0eh
https://dl.doubtnut.com/l/_GGMgPXuK3sSN

35. By what number must a given number be

multiplied to increase it by 20 %

° Watch Video Solution

36. A cycle costs Rs 8500. It cost is reduced to

Rs 7990. Find the decrease per cent in its cost.

o Watch Video Solution



https://dl.doubtnut.com/l/_sme1NNvXYTi1
https://dl.doubtnut.com/l/_kPGAJM5M9NZL

37. After deducting 6 % of a bill, the amount
to be paid is Rs 658. How much was the

original bill ?

o Watch Video Solution

38. A line segment of length 75 cm was
wrongly measured as 7.2 cm. What was the

error per cent ?

o Watch Video Solution



https://dl.doubtnut.com/l/_aSnELN98W75M
https://dl.doubtnut.com/l/_oji0eNkNBICw

1. What per cent of 90 is 18 ?

° Watch Video Solution

2.28 % of a number is 42. Find the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_69aUP6QBu5Rz
https://dl.doubtnut.com/l/_gCmMy2ZAsxpt

3. The money spent on the repair of a house
was 2 % of its value. If the cost of repair is Rs

9600, find the cost of the house.

o Watch Video Solution

4. An ore contain 8% zinc. How many kg of

the ore will be required to get 2.8 kg of zinc ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QlQn0gEZGPBd
https://dl.doubtnut.com/l/_oQmzkDOZS21d

5. A man who spends 72 % of his income is
able to save Rs 6300 per month. Find his

monthly income and

o Watch Video Solution

6. A man who spends 72 % of his income is
able to save Rs6300 per month. Find his

monthly expenses

o Watch Video Solution



https://dl.doubtnut.com/l/_T3gr8ensVffZ
https://dl.doubtnut.com/l/_uufRmhvuWqf1
https://dl.doubtnut.com/l/_UvdEMcdN9eWX

7. At an election between two candidates 53
votes were declared invalid. The winning
candidate secures 58 % of the valid votes and
wins by 588 votes. Find the total number of

votes polled.

o Watch Video Solution

8. 1200 boys and 600 girls are examined in a
test. 42 % of the boys and 30 % of the girls
passed. Find the percentage of those who

failed.


https://dl.doubtnut.com/l/_UvdEMcdN9eWX
https://dl.doubtnut.com/l/_ITsds0SaPPMm

° Watch Video Solution

1. Express each of the following as a per cent :

3

5

o Watch Video Solution

2. Express each of the following as a per cent :



https://dl.doubtnut.com/l/_ITsds0SaPPMm
https://dl.doubtnut.com/l/_3nDICWF85fVW
https://dl.doubtnut.com/l/_UVGFeqjShfos

o Watch Video Solution

3. Express each of the following as a per cent :

19
40

o Watch Video Solution

4. Express each of the following as a per cent :

31
4

° Watch Video Solution



https://dl.doubtnut.com/l/_UVGFeqjShfos
https://dl.doubtnut.com/l/_Yre4TVpkdr28
https://dl.doubtnut.com/l/_SXtAlLFtu53v
https://dl.doubtnut.com/l/_zyKx6aNguhvY

5. Express each of the following as a per cent :

0.45

° Watch Video Solution

6. Express each of the following as a per cent :

0.03

° Watch Video Solution

7. Express each of the following as a per cent :

0.1


https://dl.doubtnut.com/l/_zyKx6aNguhvY
https://dl.doubtnut.com/l/_fwOHjz3RbaM9
https://dl.doubtnut.com/l/_CZZw3oVk9buz

° Watch Video Solution

8. Express each of the following as a per cent :

2.45

o Watch Video Solution

9. Express each of the following as a per cent :

5:8

° Watch Video Solution



https://dl.doubtnut.com/l/_CZZw3oVk9buz
https://dl.doubtnut.com/l/_Z1rExTl3wOpA
https://dl.doubtnut.com/l/_ZYFfcLui3cK9
https://dl.doubtnut.com/l/_Eu69SckVSok2

10. Express each of the following as a per cent

11:18

° Watch Video Solution

11. Express each of the following as a per cent :

1:5

o Watch Video Solution



https://dl.doubtnut.com/l/_Eu69SckVSok2
https://dl.doubtnut.com/l/_Mycpbf6rHCAk

12. Express each of the following as a per cent :

H:4

o Watch Video Solution

13. Express each of the following as a fraction :

24 %

o Watch Video Solution



https://dl.doubtnut.com/l/_NgjlcIYwfyLQ
https://dl.doubtnut.com/l/_PKaYJ61xaOFM

14. Express each of the following as a fraction :

1
125 Yo

o Watch Video Solution

15. Express each of the following as a fraction :

2
65%

o Watch Video Solution



https://dl.doubtnut.com/l/_UF83NFZQW8z8
https://dl.doubtnut.com/l/_zqlI3NnJskC7

16. Express each of the following as a fraction :

165 %

o Watch Video Solution

17. Express each of the following as a fraction :

0.25 %

o Watch Video Solution



https://dl.doubtnut.com/l/_mGhtcJbAKbaU
https://dl.doubtnut.com/l/_1bdPdrKm025e

18. Express each of the following as a fraction :

0.05 %

o Watch Video Solution

19. Express each of the following as a fraction :

2.25 %

o Watch Video Solution



https://dl.doubtnut.com/l/_q4f9jOeeNdm2
https://dl.doubtnut.com/l/_DhHeAydg6Hip

20. Express each of the following as a fraction :

0.006 %

o Watch Video Solution

21. Express each of the following as a ratio :

12 %

o Watch Video Solution



https://dl.doubtnut.com/l/_vzlxOtchmhKX
https://dl.doubtnut.com/l/_80cnAIdhTKpd

22. Express each of the following as a ratio :

3
E%

o Watch Video Solution

23. Express each of the following as a ratio :

7.5 %

o Watch Video Solution



https://dl.doubtnut.com/l/_nEWXaWPLhWiF
https://dl.doubtnut.com/l/_2iWl2v1BJrlL

24. Express each of the following as a ratio :

0.36 %

o Watch Video Solution

25.Find :

25 % of Rs 7

o Watch Video Solution



https://dl.doubtnut.com/l/_FXWx9gie9jzq
https://dl.doubtnut.com/l/_WGOYmop3XK3Y

26.Find :

1
75% of Rs 40

o Watch Video Solution

27.Find :

1% of Rs 325

o Watch Video Solution



https://dl.doubtnut.com/l/_JSzBBI3U8KeO
https://dl.doubtnut.com/l/_xzU278UFB7ok

28.Find :

8 % of 5kg

o Watch Video Solution

29.Find :

2
165 % of 9m

o Watch Video Solution



https://dl.doubtnut.com/l/_e4CmSGG4ji82
https://dl.doubtnut.com/l/_FyjjvPIlOSMR

30.Find :

0.6 % of 5 km

o Watch Video Solution

31.Find :

1 .
6Z % of (1 hour 20 min.)

o Watch Video Solution



https://dl.doubtnut.com/l/_JuUj7N22kPdG
https://dl.doubtnut.com/l/_UXRUChY8t4Pe

32. Express :

56 p as a per cent of Rs 2.80

o Watch Video Solution

33. Express :

45 cm as a per cent of 3 m

o Watch Video Solution



https://dl.doubtnut.com/l/_k7YYdV3fEdPt
https://dl.doubtnut.com/l/_vdhKpTsbbpWR

34. Express :

630 g as a per cent of 3.5 kg

° Watch Video Solution

35. Express :

18 hour as a per cent of 2 days

o Watch Video Solution



https://dl.doubtnut.com/l/_GvnXxMEpvO4H
https://dl.doubtnut.com/l/_scoUFJxzcBZL

36. Express :

2.8 mm as a per cent of 2.24 cm

o Watch Video Solution

37. What per cent of 1.5 m is 60 cm ?

o Watch Video Solution

38. What per cent of 2 kg is 125 g ?

o Watch Video Solution



https://dl.doubtnut.com/l/_6EZ9DhvqIZe8
https://dl.doubtnut.com/l/_KpwxnhX81lQF
https://dl.doubtnut.com/l/_h9YFtS8TicIW

39. What per cent of Rs 6is 40p ?

o Watch Video Solution

40. What per cent of adayis 10 h ?

o Watch Video Solution

1 1
41. What per cent of 75 m is 55 m ?

o Watch Video Solution



https://dl.doubtnut.com/l/_h9YFtS8TicIW
https://dl.doubtnut.com/l/_G7j9aOCKcugC
https://dl.doubtnut.com/l/_Lc8PTRfh6ABI
https://dl.doubtnut.com/l/_6gCGQmgWjdjJ

1.1f 16 % of a number is 60, find the number.

o Watch Video Solution

1
2. If 135% of a number is 90, find the

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_6gCGQmgWjdjJ
https://dl.doubtnut.com/l/_vLnwPDXZfVWr
https://dl.doubtnut.com/l/_Ujv8KUEltU0E
https://dl.doubtnut.com/l/_XJpAQirt93qB

3.1f 0.6 % of a number is 15, find the number.

° Watch Video Solution

3
4. |f 1 % of a number is 9, find the number.

° Watch Video Solution

5. There are 42 boys and 18 girls in a class.

What is the percentage of boys in the class ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XJpAQirt93qB
https://dl.doubtnut.com/l/_EHFe1Ey8cOr6
https://dl.doubtnut.com/l/_mrYSD5LIwjQJ

6. A team won 6 hockey matches and lost 9
matches. What per cent of the matches did

the team win ?

° Watch Video Solution

7. A batsman scored 75 runs which included 3
boundries and 8 sixes. What per cent of the
total score did he make by running between

the wickets?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_mrYSD5LIwjQJ
https://dl.doubtnut.com/l/_h1f3Nx4ucF6x
https://dl.doubtnut.com/l/_RIABAp0bjw8p

8.12% of a sum of money is Rs 42. What is

20 % of the same sum?

o Watch Video Solution

1
9, 6Z of a weight is 0.25 kg. What is 45 % of

this weight?

° Watch Video Solution



https://dl.doubtnut.com/l/_RIABAp0bjw8p
https://dl.doubtnut.com/l/_XANlqEVf61Rb
https://dl.doubtnut.com/l/_rTekq7Q2zY8d

10. In a class of 60 pupils, 15% remained
absent on a rainy day. How many pupils were

present in the class on that day ?

o Watch Video Solution

11. The monthly income of Mr. Amit Goel is Rs
30400. He saves 12.5 % of his income and the
rest he spends. How much does he spend each

month ?

° Watch Video Solution



https://dl.doubtnut.com/l/_LGePpFuKv3F3
https://dl.doubtnut.com/l/_UbbHRrXP8vxM

12. An ore contain 15 % iron. How much ore

will be required to get 18 kg of iron ?

o Watch Video Solution

13. A property dealer charges a commision of
2% on the first Rs 25000 and 1.5 % on the
remainder. What commision does he charge

for selling a plot of land for Rs 1300007

° Watch Video Solution



https://dl.doubtnut.com/l/_UbbHRrXP8vxM
https://dl.doubtnut.com/l/_788XbUOmroHO
https://dl.doubtnut.com/l/_XunUQA7Qdnud

14. In an examination, the maximum marks are
850. Rohit gets 34 % marks and fails by 17
marks. Find (i) the passing marks and (ii) the
minimum  percentage for passing the

examination.

o Watch Video Solution

15. A student secures 90 % , 60 % and 54 %

marks in three test papers with maximum


https://dl.doubtnut.com/l/_MY7shE0HfMyj
https://dl.doubtnut.com/l/_FRncOuZ4bvRK

marks 100, 150 and 200 respectively. Find his

aggregate percentage.

O Watch Video Solution

16. In an examination, 5 % of the applicants
were found ineligible and 85 % of the eligible
candidates belonged to the general category.
If 4275 candidates belonged to other
categories, then how many candidates applied

for the examination ?

° Watch Video Solution



https://dl.doubtnut.com/l/_FRncOuZ4bvRK
https://dl.doubtnut.com/l/_XeoCCpJK9rjT

17. Gun - powder contains 75 % nitre, 10 %
sulphur and the rest of it is charcoal. Find the

quantity of charcoal in 8 kg of gun-powder.

o Watch Video Solution

18. An alloy consists of 13 parts of copper, 7
parts of zinc and 5 parts of nickel. Find the

percentage of copper in the alloy.

o Watch Video Solution



https://dl.doubtnut.com/l/_XeoCCpJK9rjT
https://dl.doubtnut.com/l/_S5sIVDi3zcjp
https://dl.doubtnut.com/l/_n4Yjtau157RJ

19. Two candidates A and B contested an
election. The total votes polled were 9650. If A
got 54 % of the votes, find the number of

votes received by each.

o Watch Video Solution

20. At an election between two candidates, 68
votes were declared invalid. The winning

candidate secures 52 % of the valid votes and


https://dl.doubtnut.com/l/_AXGmRlES8OLH
https://dl.doubtnut.com/l/_vWqyTxQ7o56h

wins by 354 votes. Find the total number of

votes polled.

° Watch Video Solution

21. The salary of Mrs. Sarita is Rs 32000 per
month. 10 % of it is deducted by the employer
as provident find. Of the remaining money, she
spends 20 % on house rent, 46 % on food,
14 % on the education of children and 10 %

onother expenses. Rest she saves. Find :


https://dl.doubtnut.com/l/_vWqyTxQ7o56h
https://dl.doubtnut.com/l/_a6LInj4QqpH0

how much is credited each month to her

Provident Fund Account.

o Watch Video Solution

22. The salary of Mrs. Sarita is Rs 32000 per
month. 10 % of it is deducted by the employer
as provident find. Of the remaining money, she
spends 20 % on house rent, 46 % on food,
14 % on the education of children and 10 %
onother expenses. Rest she saves. Find :

how much is spent on food.

| e |


https://dl.doubtnut.com/l/_a6LInj4QqpH0
https://dl.doubtnut.com/l/_9Kjdqmi8EI95

& Watch Video Solution I

23. The salary of Mrs. Sarita is Rs 32000 per
month. 10 % of it is deducted by the employer
as provident find. Of the remaining money, she
spends 20 % on house rent, 46 % on food,
14 % on the education of children and 10 %
onother expenses. Rest she saves. Find :

how much is paid as house rent.

° Watch Video Solution



https://dl.doubtnut.com/l/_9Kjdqmi8EI95
https://dl.doubtnut.com/l/_oFOnCdTiTOUL

24. The salary of Mrs. Sarita is Rs 32000 per
month. 10 % of it is deducted by the employer
as provident find. Of the remaining money, she
spends 20 % on house rent, 46 % on food,
14 % on the education of children and 10 %
onother expenses. Rest she saves. Find :

how much is spent on the education of

children.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZjxiSeFaln1c

25. The salary of Mrs. Sarita is Rs 32000 per
month. 10 % of it is deducted by the employer
as provident fund. Of the remaining money,
she spends 20% on house rent, 46 % on
food, 14 % on the education of children and
10 % another expenses. Rest she saves. Find :

how much does she save every month.

o Watch Video Solution



https://dl.doubtnut.com/l/_ie0I3ObE6VVK
https://dl.doubtnut.com/l/_3QDa8zqGoqbs

1. Increase :

375 by 4 %

o Watch Video Solution

2.Increase:

500 by 3.4 %

° Watch Video Solution

3.Increase:

70 by 140 %


https://dl.doubtnut.com/l/_3QDa8zqGoqbs
https://dl.doubtnut.com/l/_7L2ogNNI3UGd
https://dl.doubtnut.com/l/_ONDPr0DikWz0

° Watch Video Solution

4.Increase:

1
48 by 125 %

° Watch Video Solution

5.Increase:

90 by 2 %

° Watch Video Solution



https://dl.doubtnut.com/l/_ONDPr0DikWz0
https://dl.doubtnut.com/l/_kE58mJfZF2aN
https://dl.doubtnut.com/l/_rr7y7k3JmiE1
https://dl.doubtnut.com/l/_4hQBWcy0V9QK

6. Decrease :

70 by 40 %

o Watch Video Solution

7. Decrease :

340 by 35 %

° Watch Video Solution



https://dl.doubtnut.com/l/_4hQBWcy0V9QK
https://dl.doubtnut.com/l/_HRzwlqI8BUxI

8. Decrease :

65 by 4 %

o Watch Video Solution

9. Decrease :

2
36 by 16§ %

o Watch Video Solution



https://dl.doubtnut.com/l/_RPRgZo82n9NB
https://dl.doubtnut.com/l/_eCesp3footmD

10. Decrease :

260 by 1.5 %

o Watch Video Solution

11. Find a number:

Which when increased by 10 % becomes 66.

o Watch Video Solution



https://dl.doubtnut.com/l/_Fofii4rdmgLV
https://dl.doubtnut.com/l/_xFp4Uea14N6Q

12. Find a number:

Which when increased by 120 % becomes 77.

o Watch Video Solution

13. Find a number :

Which when increased by 2.5 % becomes 246.

o Watch Video Solution



https://dl.doubtnut.com/l/_mrepRkj6UH4B
https://dl.doubtnut.com/l/_5QP8NFnc0zQb

14. Find a number:

Which when decreased by 35 % becomes 52.

o Watch Video Solution

15. Find a number :

Which when decreased by 8 % becomes 115.

o Watch Video Solution



https://dl.doubtnut.com/l/_FN8KrhoRSkq6
https://dl.doubtnut.com/l/_RRLeidU9vvK0

16. Find a number :

Which when decreased by 3.4 % becomes 483.

o Watch Video Solution

17. By what number must a given number be

multiplied to increase it by 12 % ?

o Watch Video Solution



https://dl.doubtnut.com/l/_y0XPPYOZbcbt
https://dl.doubtnut.com/l/_1OsQVm22csCr

18. By what number must a given number be

multiplied to decrease it by 30 % ?

° Watch Video Solution

19. The price of a fan increase from Rs 3260 to

Rs 3749. Find the increase per cent in its price.

o Watch Video Solution



https://dl.doubtnut.com/l/_K4TvweRLqRX4
https://dl.doubtnut.com/l/_ODXTvD84Ex5X

20. The monthly salary of Mr. Rakesh is Rs
32500. After deducting the provident fund, he
gets Rs 29900 per month. What per cent of

the salary is deducting as provident fund ?

o Watch Video Solution

21. A car was purchased last years for Rs
415000. Now, its value is Rs 356900. At what

rate is the car depreciating?

o Watch Video Solution



https://dl.doubtnut.com/l/_frVvW46fzUPk
https://dl.doubtnut.com/l/_BkcBMTTDG1uC

22. On decreasing the price of a car by 6 %, its
value becomes Rs 249100. What was the

original price of the car?

° Watch Video Solution

23. On increasing the salary of a man by 12 %,
his salary in increased by Rs 2316. What was

the original salary?

° Watch Video Solution



https://dl.doubtnut.com/l/_BkcBMTTDG1uC
https://dl.doubtnut.com/l/_ghOa2uGzOqV7
https://dl.doubtnut.com/l/_4DmP2hMkFzIE

24. The salary of Gopal was increased by 10 %
and then the increased salary was decreased
by 10 % . Find the net increase or decrease per

cent in his original salary.

° Watch Video Solution

25. After deducting 4 % of a bill, the amount
still to be paid is Rs 1488. How much was the

original bill ?

° Watch Video Solution



https://dl.doubtnut.com/l/_0jYGmsdJhff8
https://dl.doubtnut.com/l/_oksNThgEuMA2

26. The weight of a boy was 40 kg. But, it was
wrongly measured as 42 kg. Find the error per

cent.

° Watch Video Solution

1. There are 100 students in class VIl in a

school. 40 students are in Section A, 33 in

Section B, and the remaining students are in


https://dl.doubtnut.com/l/_oksNThgEuMA2
https://dl.doubtnut.com/l/_og4gUv7Z36P9
https://dl.doubtnut.com/l/_z3Cw63d4TwDt

Section C. Find what percentage of students

are there in each section.

° Watch Video Solution

2. Complete the table given below. One has

been done for you.

Out of 100 ‘ Percentage ‘ NF:;;;:U‘:TW | Fraction Ratio Decimal

5 out of 100 3% | 2 il 1:20
|| e 100 20

13 outof 100

20 out of 100 ‘ |

25 out of 100

40 out of 100

50 out of 100

65 out of 100

75 out of 100

100 out of 100

o Watch Video Solution



https://dl.doubtnut.com/l/_z3Cw63d4TwDt
https://dl.doubtnut.com/l/_MuALWSZLtteM

3. Convert the following fractions

percentages.

2,3 3 .5 7.5 3
o5 275 20 8 Sa0 "6 &2

into

o Watch Video Solution

4. Radha has a box of toffees. She ate a few

3
and now she has — of the toffees left. What

5

percentage of toffees are left with her? What

percentage of toffees did she eat?

I o Watch Video Solution


https://dl.doubtnut.com/l/_MuALWSZLtteM
https://dl.doubtnut.com/l/_phMCh0vRYGtz
https://dl.doubtnut.com/l/_mgZLBJnHr5wr

5. Find what per cent of the figure given

alongside is shaded and what per cent is not

shaded.

o Watch Video Solution



https://dl.doubtnut.com/l/_mgZLBJnHr5wr
https://dl.doubtnut.com/l/_vlcAMpd0ii18

6. A tray has three kinds of pastries, vanilla,
chocolate, and pineapple. If 40% of the
pastries are chocolate and 25 % pastries are
vanilla, find the percentage of pineapple

pastries in the tray.

o Watch Video Solution

7. Convert the following decimals into

percentages.


https://dl.doubtnut.com/l/_vlcAMpd0ii18
https://dl.doubtnut.com/l/_QuxjsFwzNM6y
https://dl.doubtnut.com/l/_xA6ulAkNDq6J

a.0.2b.0.02 c. 0.002 d. 0.0002 e. 2.2

o Watch Video Solution

8. Convert the following ratios to percentages.

a.7:8b.1:12

° Watch Video Solution

9. Convert the following percentages into

fractions and decimals.

a.23% b.35% ¢.27.5% d.85% e.150 %


https://dl.doubtnut.com/l/_xA6ulAkNDq6J
https://dl.doubtnut.com/l/_2UhiHy9smn17
https://dl.doubtnut.com/l/_MTezWAdnc6nE

° Watch Video Solution

10. Dipika scored 35 out of 50 in the half-yearly
examination and 65 out of 100 in the final
examination in English. In which examination

was her performance better?

o Watch Video Solution

11. Find 8 % of 125.

o Watch Video Solution



https://dl.doubtnut.com/l/_MTezWAdnc6nE
https://dl.doubtnut.com/l/_4nqKRRJk9yUg
https://dl.doubtnut.com/l/_bQlwbbJxjIJf

12.a.13 % of 300 km b. 16 % of 625 litres

o Watch Video Solution

13. Rajesh studies for 6 hours in a day, of hich
he spends 60 % time on Mathematics and
40 % time on Physics. Find out how much

time he spends studying thw two subjects.

° Watch Video Solution



https://dl.doubtnut.com/l/_bQlwbbJxjIJf
https://dl.doubtnut.com/l/_40aBNZ0DoJqk
https://dl.doubtnut.com/l/_Ao3jxaULx8Sr
https://dl.doubtnut.com/l/_0FP0KRlN8iRt

14. Ravi, Seema, and Sujoy ordered 2 pizzas.
The ratio of the number of pieces eaten by
them is 7:4:5, respectively. What percentage of

pizza was eaten by each of the three friends?

o Watch Video Solution

15. A mixture of iron, sand, and glass contains
the three ingredients in the ratio 4:7:9,
respectively. How much and what percentage
of iron, sand, and glass is in 500 g of the

mixture?



https://dl.doubtnut.com/l/_0FP0KRlN8iRt
https://dl.doubtnut.com/l/_fUtLEBfKjzWN

Watch Video Solution

16. The number of cars in a small colony
increased from 500 to 600 in a year. Find the

percentage increase.

o Watch Video Solution

17. The price of a drug changed as follows:
a. reduced from Rs 72 to Rs 60. Find the

percentage decrease in the price.


https://dl.doubtnut.com/l/_fUtLEBfKjzWN
https://dl.doubtnut.com/l/_mY2H6hRaBYzG
https://dl.doubtnut.com/l/_rugr5AHUgE9p

b. increased from Rs 60 to Rs 72. Find the

percentage increase in price.

° Watch Video Solution

18. Last year, there were 80 trees in a colony.
200 additional trees were planted this year.
Find the increase percent of the number of

tress.

o Watch Video Solution



https://dl.doubtnut.com/l/_rugr5AHUgE9p
https://dl.doubtnut.com/l/_Wlt19JvK46Ce

19. Asha's mother told her that when she was a
child, the price of wheat was Rs2/kg. The price
of wheat today is Rs36/kg. Find the percentage

increase in the price of the wheat.

° Watch Video Solution

20. What percentage of 1kf is 16 g?

° Watch Video Solution



https://dl.doubtnut.com/l/_ic9WKKruVp60
https://dl.doubtnut.com/l/_osG25Wbuvyin

21. What percentage of 3 days is 18 hours?

o Watch Video Solution

22. Jyoti drank 12 % of the juice from a jar. If
Jyoti drank 180mL of juice, how much juice was

there in the beginning?

o Watch Video Solution



https://dl.doubtnut.com/l/_stBehjm7Pg1M
https://dl.doubtnut.com/l/_gtQ7zOJOKHvb

23. If 90 is increased by 10 % , then find the

increased amount.

° Watch Video Solution

24.Rajani has 120 coins in her purse. Of these,
40 are Rs1 coins, 50 are Rs5 coins, and 30 are
Rs10 coins. Find the percentage of coins of

each denominations.

o Watch Video Solution



https://dl.doubtnut.com/l/_HZHXUq5wjOJF
https://dl.doubtnut.com/l/_wjjLmCSr3JF7
https://dl.doubtnut.com/l/_Sgs21nxV9A6f

25. Neerja is going to Chandigarh from Delhi.
She has travelled 270 km. This is 90 % of the
total distance between Delhi and Chandigarh.

What is the distance between the two cities ?

o Watch Video Solution

26. Lata spent 20 % of the money she had on
jeans and 5% on a pair of slippers. She was
left with Rs2700. How much money did she

have in the beginning?

o Watch Video Solution



https://dl.doubtnut.com/l/_Sgs21nxV9A6f
https://dl.doubtnut.com/l/_rj6xrnCkDkdF

27.In an election, there are two candidates A
and B. The total number of voters is 60,000
and 80 % of the total votes are polled. If 60 %
of the polled votes were cast in favour of A,

how many votes were polled in favour of B?

o Watch Video Solution

28. Raj and Vinay are participating in the "Tree

Plantation Drive". Raj plants 30% of the


https://dl.doubtnut.com/l/_rj6xrnCkDkdF
https://dl.doubtnut.com/l/_cuXcXpeM2BF4
https://dl.doubtnut.com/l/_XnXAuu2MSZJq

plants and then Vinay came and planned 117
plants. If 25 % of the plants are still to be
planted, find the total number of plants that

were to be planted.

o Watch Video Solution

29. A shopkeeper has a dress costing Rs 400, a
bag for Rs175, and a pair of shoes for Rs 250 in
his shop. He sells the dress for Rs 450, bag for

Rs 175, and the shoes for Rs 220. Find the gain


https://dl.doubtnut.com/l/_XnXAuu2MSZJq
https://dl.doubtnut.com/l/_QCxcLq5Io1NK

or loss on the three items sold by the

shopkeeper.

° Watch Video Solution

30. The CP of a pen is Rs 80. It is sold at Rs 100.

Find the gain per cent.

o Watch Video Solution

31. Neha bought a camera for Rs 18,500 and

sold it to Priya at a gain of 10 % . What did


https://dl.doubtnut.com/l/_QCxcLq5Io1NK
https://dl.doubtnut.com/l/_GOj2vlfQT45C
https://dl.doubtnut.com/l/_WwkmaW2pEtfq

Priya pay for the camera?

o Watch Video Solution

32. Juhi sells a washing machine for Rs 13.500.

She loses 20 % in the bargain. What was the


https://dl.doubtnut.com/l/_WwkmaW2pEtfq
https://dl.doubtnut.com/l/_PaoLf6MZWyFa

price atwhich she bought it?

o Watch Video Solution



https://dl.doubtnut.com/l/_PaoLf6MZWyFa

33. An article costs Rs 80. It is sold at a profit

of 10 % . Find the gain amount.

° Watch Video Solution

34. A shopkeeper sells Mathematics books at
Rs 265 per book. In one day he sells 40 books
and earns a profit of Rs 600. Find the gain per

cent and the cost price of the book.

o Watch Video Solution



https://dl.doubtnut.com/l/_qKcHTC3fnOQn
https://dl.doubtnut.com/l/_dwh3o5FSEtFM
https://dl.doubtnut.com/l/_mV3IbysFJqC6

35. A shopkeeper sells an item for Rs 875,
1
making a profit equal to 1 of the cost price.

Find the gain per cent and the cost price.

o Watch Video Solution

36. Ravi bought a mobile for Rs 12,800. He
bought its cover and screen guard for Rs 2800.
He then sold it for Rs 16,536. Find the gain or

loss per cent.

o Watch Video Solution



https://dl.doubtnut.com/l/_mV3IbysFJqC6
https://dl.doubtnut.com/l/_9Dak03ADhtj7

37. A tea-shop owner mixes two kinds of tea,
type A and type B, in the ratio 3:5. If type A
costs Rs 200 per kg and type B costs Rs 160
per kg, find the price at which the blend must

be sold to make a profit of 8 % .

o Watch Video Solution



https://dl.doubtnut.com/l/_x3nfboSN48HW

1. Sid has a bag with 100 marbles. There are 40
red marbles and 60 blue marbles in the bag.

1. What percentage of red marbles are there in
the bag?

2. Write the percentage of blue marbles in the
bag:

a. as a fraction with denominator 100

b. as a fraction in simplest form

c.as a ratio

d. as a decimal number

o Watch Video Solution



https://dl.doubtnut.com/l/_KlyQytVtchFd

2. Express the following fractions as

percentages.
3 b 1 3 4 2
a. T C. 50 % 3

o Watch Video Solution

3. Pooja answered 5 of the questions given in

a question paper correctly. What percentage

of questions did she answer correctly?

o Watch Video Solution



https://dl.doubtnut.com/l/_aAkowCUmVrfa
https://dl.doubtnut.com/l/_clGkEb0ZsWmF
https://dl.doubtnut.com/l/_GMQTaLemnIAG

3

4. Sumit has a box of marbles. He gave 0 of

the marbles to his friend Amit. What
percentage of marbles are left with Sumit?
What percentage of marbles are left with
Sumit? What percentage of marbles did Amit
get?

A.65 % ; 35 %

B.90 % ; 10 %

C.70 % ; 30 %

D.57 % ;43 %


https://dl.doubtnut.com/l/_GMQTaLemnIAG

Answer: C

o Watch Video Solution

5.In a class, 45 % students play football and
the rest play cricket. What per cent of the

students play cricket?

o Watch Video Solution

6. Express the following decimals as

percentages.


https://dl.doubtnut.com/l/_GMQTaLemnIAG
https://dl.doubtnut.com/l/_LZMKjcjsqeqm
https://dl.doubtnut.com/l/_cw5Ijakbsi3F

1. 0.16 ii. 3.6 iii. 0.05 iv. 2.39

o Watch Video Solution

7. Express the following ratios as percentages.

L2:310.3:711.3:5iv.7:13

° Watch Video Solution

8. Express the following percentages as

decimals and fractions.

i. 15 % ii. 8 % iii. 120 % iv. 33 %


https://dl.doubtnut.com/l/_cw5Ijakbsi3F
https://dl.doubtnut.com/l/_SGSPF47jHrX7
https://dl.doubtnut.com/l/_Qrf4Kfe0uC3t

° Watch Video Solution

9. What percentage is:

a. 30 out of 75 b. 200 g out of 1 kg

o Watch Video Solution

10. Which is the higher percentage: 42 out of

60 or 48 out of 80.

° Watch Video Solution



https://dl.doubtnut.com/l/_Qrf4Kfe0uC3t
https://dl.doubtnut.com/l/_U03KdSZoqrhy
https://dl.doubtnut.com/l/_EkLkBfBDiM9B
https://dl.doubtnut.com/l/_Ns7JFwSz4qpc

11.Find: 2. 15 % of Rs 250 b. 18 % of 900km

° Watch Video Solution

12. John had Rs 60 with him. He spent 40 % of
the money he had on a sandwich and the rest
on an ice cream. Find the amount he spent on

each item.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ns7JFwSz4qpc
https://dl.doubtnut.com/l/_OqyJcbUBHA4P

13. Ashwin distributed 75 sweets amongst
Shweta, Pallavi, and Geeta in the ratio 3:4:8.
Find how many and what percentage of

sweets did each get.

o Watch Video Solution

14. Raman secured 750 in aggregate in the
half-yearly examination in class 7. In the final

examination, Raman's aggregate marks


https://dl.doubtnut.com/l/_4OfEv44ajvj1
https://dl.doubtnut.com/l/_Ne393WjnRGLm

reduced to 720. Find the percentage decrease

in Raman's marks.

° Watch Video Solution

15. Rashmi's weight decreased by 8 % over
three months. If the weight lost was 4.2 kg,

what was her weight 3 months ago?

° Watch Video Solution

16. What percentage of 4 mis 25 cm?


https://dl.doubtnut.com/l/_Ne393WjnRGLm
https://dl.doubtnut.com/l/_DOB7Fhon1scI
https://dl.doubtnut.com/l/_uSHH0BSaz92Y

° Watch Video Solution

17. What percentage of 4.5 litres is 150

millilitres?

o Watch Video Solution

18. Arti has to answer 30 multiple-choice
questions in an assignment. She has answered
24 questions correctly. What percentage of

questions has she got correct?

| & |


https://dl.doubtnut.com/l/_uSHH0BSaz92Y
https://dl.doubtnut.com/l/_YzvDz4tJ1COZ
https://dl.doubtnut.com/l/_6pJ0VrQLvmOJ

& Wwatch Video Solution ]

19.1n a test. 90 % of the students passed and
4 students failed. How many students

appeared for the test?

° Watch Video Solution

20. If 80 is reduced by 15%, find the

decreased amount.

o Watch Video Solution



https://dl.doubtnut.com/l/_6pJ0VrQLvmOJ
https://dl.doubtnut.com/l/_dOcogVreyrUa
https://dl.doubtnut.com/l/_Qxq01v90UI4s

21. Radha had a box of cookies. She gave 30 %
of the cookies to her friend. She ate 25 % of
the cookies. If there are 27 cookies left in the
box, how many cookies were there in the box

initially?

o Watch Video Solution

22. Anil had to paint a wall. He painted 25 %
of the wall. Umar came and painted 30 sq. m of

the wall. If 60 % of the wall is left unpainted,


https://dl.doubtnut.com/l/_jX5vzlpW6IfK
https://dl.doubtnut.com/l/_iyllyvc4mLsv

how many square metres of wall did Anit

paint?

° Watch Video Solution

23.In an election , two persons contested and
the winner secured 58 % of the votes polled.
If the difference between their votes is 8480,

find the votes secured by the winner.

o Watch Video Solution



https://dl.doubtnut.com/l/_iyllyvc4mLsv
https://dl.doubtnut.com/l/_DzGqNWSbbXod

24. Sudha bought a bicycle for Rs 1680 and

sold it for Rs 2310. Find the gain per cent.

o Watch Video Solution

25. By selling an article for Rs 432, a
shopkeeper gains 20 % . Find the price of the

article.

o Watch Video Solution



https://dl.doubtnut.com/l/_4RP8uAJNCvHz
https://dl.doubtnut.com/l/_M5snJGB1QLFj

26. Find the SP of a chair whose CP=Rs 825 and

loss % =8 % .

o Watch Video Solution

27.By selling a fan for Rs 720. a trader incurs a

loss of 20 % . Find the loss amount.

o Watch Video Solution



https://dl.doubtnut.com/l/_0qaeNoL2gamT
https://dl.doubtnut.com/l/_x7gyEK6z0TaM

28. A shopkeeper sells TV at Rs 40,250. He sells
6 TV sets in a day and earns a profit of Rs
31,500. Find the cost price and the gain per

cent of one TV.

o Watch Video Solution

29. Rinku sells a set of books for Rs 1080,
incurring a loss equal to 0 of the cost price.

Find the loss per cent and the cost price of the

set of books.

| & I


https://dl.doubtnut.com/l/_zMC0YscxqbyZ
https://dl.doubtnut.com/l/_xEvIgTd9gQZR

| ¥ Watch Video Solution |

30. A juice vendor mixes two kinds of juices,
pomegranate, and apple, costing Rs 180 and
Rs 90 per litre, respectively. He mixes the two
juices in the ratio 4: 5. Find the selling price of

the juice mix to make a profit of 10 % .

o Watch Video Solution

Challenge


https://dl.doubtnut.com/l/_xEvIgTd9gQZR
https://dl.doubtnut.com/l/_zXnLzajK7gmZ

1. A factory frants raises twice in a year. If 62 %
of the workers received their raises in the first
period and 10 % of these did not receive a
raise in the second period, what percentage of
the people received raises in both the

periods?

° Watch Video Solution



https://dl.doubtnut.com/l/_LSG41iG7mg1K

1. Write the following as percentages.

3
a. 20 b.0123¢c. 7:8

7
.— e.34. f.13:2
d 25e3 765 f. 13: 25

o Watch Video Solution

2. Write the following percentages as a

decimal number, fraction in simplest form and

as a ratio.
Decimal Fraction in
Porcemtage | osiber | ShoplestPonn | 0o )
o |
3. 12.5% | i |
b. 23.6% |



https://dl.doubtnut.com/l/_yzTLP7QNv5GB
https://dl.doubtnut.com/l/_KRBN4gPrSqMA

L ® Watch Video Solution

3. Which of the following is equal to

a.11.3%

i. 113 ii. 0113 iii 119
1. 1. 1. V. III.F0
b.19.07 %

I. 1.097 ii. 0.1907 iii. 1907

° Watch Video Solution

4. Fill in the blanks.

a.15% of7200g=_ g


https://dl.doubtnut.com/l/_KRBN4gPrSqMA
https://dl.doubtnut.com/l/_IHSMRQNzcPyQ
https://dl.doubtnut.com/l/_dYhcteOHt3RI

b.18 % of 12,600 km= km

c. 120 % of =84

e. % of 2 km=120m

f. % of 4 hours = 24 minutes

g.15 % less than Thour=__ minutes.
h.12 % more than 2 km = km m

° Watch Video Solution

5. A basket has 25 apples, of which 7 are green

and the rest are red. Find the percentage of


https://dl.doubtnut.com/l/_dYhcteOHt3RI
https://dl.doubtnut.com/l/_9fswsGzH86hZ

green and red apples in the basket.

o Watch Video Solution

6. In a class of 50 students, 46 students are

preent. What per cent of students are absent?

o Watch Video Solution



https://dl.doubtnut.com/l/_9fswsGzH86hZ
https://dl.doubtnut.com/l/_OpHXcjf6vYYY

7. In a class of 85% students pass in a
surprise test. What per cent of students did

not pass?

o Watch Video Solution

8. A cartoon of books has 35 % Math books,
30% Physics books and the rest are
Chemistry books. Find what per cent of books

Chemistry books in the carton.

° Watch Video Solution



https://dl.doubtnut.com/l/_bc8qocxnIrn2
https://dl.doubtnut.com/l/_io0o5NCM8KvE

9. Sarla uses one part of suji and two parts of
water to make halwa. Find the percentage of

suji and water to make halwa.

o Watch Video Solution

10. Cement, sand, and gravel are mixed in the
ratio 1:2:3, respectively, to make concrete.
What percentages of cement, sand, and gravel

are used in concrete?

o Watch Video Solution



https://dl.doubtnut.com/l/_io0o5NCM8KvE
https://dl.doubtnut.com/l/_o9LmkUY32ZKc
https://dl.doubtnut.com/l/_y6s15yLuOSFn

11. The population of a city increased by 10 %
in the previous year. If the present population
is 1,32,000, what was the population of the city

a year ago?

o Watch Video Solution

12. The number of shops in a shopping
complex increased from 300 to 351 in a year.

Find the percentage increase?

| = 1


https://dl.doubtnut.com/l/_y6s15yLuOSFn
https://dl.doubtnut.com/l/_TOp1Z1fiMUEr
https://dl.doubtnut.com/l/_FNkDdVPtNp4N

I &9 Watch Video Solution I

13. Prateek's salary was increased by 12 % to

Rs 16,800. Find his salary before the increase.

o Watch Video Solution

14. A company intoduces a special packing of
mixed fruit juice with 15 % extra juice at no
extra cost. If the special pack contains 575mL

of juice, find the content of the standard pack.

l o Watch Video Solution


https://dl.doubtnut.com/l/_FNkDdVPtNp4N
https://dl.doubtnut.com/l/_6NNhhWHyeJtz
https://dl.doubtnut.com/l/_kx5f2pdiqQqe

15. Rajesh and Ravi invested in a business in
the ratio of 3:7. In a first year, they made a
profit of Rs 22,000. What would be the share
of each of them? In the following year, the
profit was increased by 12 % . Calculate the

amount Rajesh receive's in the second year.

o Watch Video Solution



https://dl.doubtnut.com/l/_kx5f2pdiqQqe
https://dl.doubtnut.com/l/_hUcESqximZO7

16. A box contain 3600 balls of red, blue, green,
and black colours in the ratio 3:4:5:6 . Find
the number and percentage of balls of each

off the four colours in the box.

o Watch Video Solution

17. Apana has to answer 20 questions in an
assignment. She has answered 18 questions
correctly. What percentage of questions has

she got correct?

| & I


https://dl.doubtnut.com/l/_kjH8gwPxjfjR
https://dl.doubtnut.com/l/_1u6J1bkJoP6r

| ¥ Watch Video Solution |

18. Anita has obtained 520 marks in an
examination. If she obtained 80 % of the total

marks, find the total marks.

o Watch Video Solution

19. Pooja spent 20 % of the money she had on
clothes and 5 % on a pair of slippers. She was
left with Rs 1800. How much money did she

have in the beginning?


https://dl.doubtnut.com/l/_1u6J1bkJoP6r
https://dl.doubtnut.com/l/_Ctk8geBYNsuf
https://dl.doubtnut.com/l/_djNeuJK2Kx9m

° Watch Video Solution

20. Amit had to paint a wal. He painted 20 %
of the wall. Ahmed came painted 75sq.m of the
wall. If 55 % of the wall is left unpainted, how
many square metres of the wall did Amit

paint?

° Watch Video Solution



https://dl.doubtnut.com/l/_djNeuJK2Kx9m
https://dl.doubtnut.com/l/_yNNyrX8Dci8W

21. A nursery has 6500 plants. 15 % of these
plants are roses and 32 % are daisies. What is
the total number of other plants in the

nursery?

° Watch Video Solution

22. In a box of electric bulbs, 12% are
defective. If 176 bulbs are good , how many

bulbs are defective?

° Watch Video Solution



https://dl.doubtnut.com/l/_pI7Pt5VKpA5X
https://dl.doubtnut.com/l/_5FJXGvg9ebs2

23. Two candidates contested from a
constituency in an election. The winner
secured 68 % of the votes polled. If the
difference between their votes was 23,040,

find the voes secured by the winner.

o Watch Video Solution

24, Darjeeling tea costing Rs 450 per kg is
mixed with Assam tea at Rs 250 per kg to make

blended tea. If the mixture contains 40 %


https://dl.doubtnut.com/l/_5FJXGvg9ebs2
https://dl.doubtnut.com/l/_PF2WCxgpmcnV
https://dl.doubtnut.com/l/_NAlXhxn6E1ck

Darjeeling tea, calculate the cost of 1 kg of the

mixture.

° Watch Video Solution

1. Shreya bought a camera for Rs 12,600 and

sold it to Priya for Rs 14,364. Find the gain per

cent.

° Watch Video Solution



https://dl.doubtnut.com/l/_NAlXhxn6E1ck
https://dl.doubtnut.com/l/_lE4cdVIOiOEe
https://dl.doubtnut.com/l/_VhBt21tJdz6i

2. A book was bought for Rs 650 and sold with

a profit of Rs 104. Find the gain per cent.

o Watch Video Solution

3. Aprpan sells a washing machiine for Rs
14,875. He loses 15 % in the bargain. What

was the price at which he bought it?

o Watch Video Solution



https://dl.doubtnut.com/l/_VhBt21tJdz6i
https://dl.doubtnut.com/l/_SunxZqfGEtB7

4. Rachit sells a television for Rs 26,600. He
loses 5 % in the bargain. What was the price

at which he bought it?

o Watch Video Solution

5. Find the selling price of a table for which

the cost price is Rs 650 and the gain % is

6 % .

o Watch Video Solution



https://dl.doubtnut.com/l/_no7Kzq475K9I
https://dl.doubtnut.com/l/_l8SbElkJ9Dvi
https://dl.doubtnut.com/l/_KACBJGZqLwXk

6. Find the selling price of a fan for which the

cost price is Rs 1200 and the gain % is 8 % .

° Watch Video Solution

7. A shopkeeper sells an item for Rs 348,
making a profir equal to 5 of the cost price.

Find the gain per cent and the cost price.


https://dl.doubtnut.com/l/_KACBJGZqLwXk
https://dl.doubtnut.com/l/_MOUbeORv6mJ0

° Watch Video Solution

8.Raghu sells a book for Rs 280, making a loss
equal to 3 of the cost price. Find the loss

percent and the cost price.

° Watch Video Solution

9. Kirti bought a table for Rs 12,000. She spent
Rs 2200 on getting it polished. She then sold

it at a profit of 10 % . Find its selling price.

| e |


https://dl.doubtnut.com/l/_MOUbeORv6mJ0
https://dl.doubtnut.com/l/_speuimHg0mDx
https://dl.doubtnut.com/l/_nKDXB5OaiCyd

& Watch Video Solution I

10. Raman ordered a TV for Rs 35,000. He had
to pay Rs 1000 for getting it delivered. After 2
months he sold it at a loss of 5% . Find the

selling price.

° Watch Video Solution

11. A vendor sells mangoes at Rs 40 per kg, At
the end of the day he found that he sold 30 kg

of mangoes ata profit of Rs 200. Calculate the


https://dl.doubtnut.com/l/_nKDXB5OaiCyd
https://dl.doubtnut.com/l/_eV3mP5M4Nx2i
https://dl.doubtnut.com/l/_axrcZ5WBlbHl

cost price of the mangoes per kg and his profit
percent for 30 kg mangoes. At what price per
kg should he have sold if he wanted a profit of

35%?

o Watch Video Solution

12. A vendor sells apples at Rs 75 per kg, At the
end of the day he found that he sold 20 kg of
apples ata profit of Rs 250. Calculate the cost
price of the apples per kg and his profit

percent for 20 kg apples. At what price per kg


https://dl.doubtnut.com/l/_axrcZ5WBlbHl
https://dl.doubtnut.com/l/_sc3sm3wH9hGR

should he have sold if he wanted a profit of

36 % ?

° Watch Video Solution

13. A trader mixes two varieties of salt, viz. A
and B. The cost price of A was Rs 28 per kg and
of B was Rs 21 per kg. If he mixes these two
varities in the ratio 2: 5, at what price per kg

should he sell the mixture to make an profit of

5% ?

o Watch Video Solution



https://dl.doubtnut.com/l/_sc3sm3wH9hGR
https://dl.doubtnut.com/l/_oIeuDUH2fYfC

14. A shopkeeper mixes two grades of saffron.
Grade | and Grade Il. Grade | saffron costs Rs
154 per gram and Grade Il costs Rs 121 per
gram. The two grades of saffron are mixed in
the ratio 3: 8 . At what price should he sell the

mixture to make a profit of 25 % ?

° Watch Video Solution

Revision Exercise



https://dl.doubtnut.com/l/_oIeuDUH2fYfC
https://dl.doubtnut.com/l/_Gcez3VtwUCak

1. Write as percentages.

| b7 4 d 2 0.05 f. 0.003 g. 0.73
a.2—0 .g C.2—5 . ?5 e. U. . U, g. L.

h.2.3i.3:20j.9:8 k. 101:100(5:8’

o Watch Video Solution

2. Write the ratio as percentage: 2:3: 5

o Watch Video Solution



https://dl.doubtnut.com/l/_4tNjlLDD3V01
https://dl.doubtnut.com/l/_YEZjaSDKXmsf

3. Convert the following percentages into

fractions.

a.17.5% b.65% c.0.45%

o Watch Video Solution

4. Convert the following percentages into

decimals.

a.3.5% b.22% c.2.5% d.27.5%

o Watch Video Solution



https://dl.doubtnut.com/l/_YkjJhIDaRgZY
https://dl.doubtnut.com/l/_Tcpx9B8oYvSe
https://dl.doubtnut.com/l/_bkjFban7TfPI

5.Find a. 15 % of 7500g b. 12 % of Rs 240 c.

8 % of 120 km

o Watch Video Solution

6. Find the value of a if:
a.1% ofa =7b.100% of a =100 c. 12%

ofa = 18d.40% ofa = 384

o Watch Video Solution



https://dl.doubtnut.com/l/_bkjFban7TfPI
https://dl.doubtnut.com/l/_5q7t5lp7fkxn

7. What percentage of

a.40mis 10 m ? b. 7 litres is 1.4 litres?

o Watch Video Solution

8. If Rs 60 is reduced by 20% , find the

decreased amount.

o Watch Video Solution



https://dl.doubtnut.com/l/_wJqGBf8J48ih
https://dl.doubtnut.com/l/_gwBBoW2E7s8T

9. The population of a town increases 10 %
annually. If the present population is 1,54,000,
what was the population of the town a year

ago?

° Watch Video Solution

10. Anita has obtained 450 marks in an
examination. If she obtained 75 % of the total

marks, find the total marks.

° Watch Video Solution



https://dl.doubtnut.com/l/_AmrVF4mYfWdF
https://dl.doubtnut.com/l/_NHq7UswiXE1g

11. A nursery has 5000 plants. 10 % of these
plants are roses and 35 % are daisies. What is

the total number of other plants?

° Watch Video Solution

12. An ally of tin and copper consists of 24
parts of tin and 136 parts of copper. Find the

percentage of copper in the alloy.

° Watch Video Solution



https://dl.doubtnut.com/l/_NHq7UswiXE1g
https://dl.doubtnut.com/l/_ZHrEp7P4UZZP
https://dl.doubtnut.com/l/_vjHLQsvOFgEX

13. In an examination, 15 % students failed
and 425 students passed. Find the number of
students who failed in the examination, 15 %
students failed and 425 students passed. Find
the number of students who failed in the

examination.

o Watch Video Solution

14. In a box of electric bulbs, 12% are

defective. If 176 bulbs are good, how many


https://dl.doubtnut.com/l/_JGn5tBJKk5T5
https://dl.doubtnut.com/l/_WzKhbLkBynMJ

bulbs are there in the box?

° Watch Video Solution

15. A box contains 140 sweets. These sweets
are divided amongst Rahul, Prateek, Arun, and
Ashish in the ratio 2: 3:4: 5, respectively. Find
the percentage of sweets received by each of
the four friends. Also, find the number of

sweets received by each friend.

° Watch Video Solution



https://dl.doubtnut.com/l/_WzKhbLkBynMJ
https://dl.doubtnut.com/l/_0EMFnjQUo1GU
https://dl.doubtnut.com/l/_dKxFtXAdWFNL

16. An IPL cricket team won 7 matches this year
as against 10 matches last year. What is the
decrease percentage of the matches won by

the team?

o Watch Video Solution

17. What will be the cost price of an item if it is

sold for Rs 187 after a loss of 15 % ?

° Watch Video Solution



https://dl.doubtnut.com/l/_dKxFtXAdWFNL
https://dl.doubtnut.com/l/_Tn6hqhlLE6zU
https://dl.doubtnut.com/l/_76eF5fFpo3RL

18. Rohit's salary was increased by 10 % to Rs

41,800. Find his salary before the increase?

o Watch Video Solution

19. A book was bought for Rs 560 and sold for

Rs 630. Find the gain and gain per cent.

° Watch Video Solution

20. Find the sale price of a table for which the

cost price is Rs 650 and the gain is 6 % .


https://dl.doubtnut.com/l/_76eF5fFpo3RL
https://dl.doubtnut.com/l/_5pF57Un6O9Rd
https://dl.doubtnut.com/l/_mApLr4X3NopC

° Watch Video Solution

21. A company intoduces a special packing of
mixed fruit juice with 20 % extra juice at no
extra cost. If the special pack contains 660mL

of juice, find the content of the standard pack.

o Watch Video Solution

22. A shopkeeper sells an item for Rs 322,

making a profir equal to 5 of the cost price.


https://dl.doubtnut.com/l/_mApLr4X3NopC
https://dl.doubtnut.com/l/_GqbhyH6ZNwIW
https://dl.doubtnut.com/l/_KGYCg5wl5NKU

Find the gain per cent and the cost price.

o Watch Video Solution

23. The height of a plant increases by 16 % in
one week. If the increases height is 29 cm, find

the original height.

o Watch Video Solution

24. Shikha sells dinner sets at Rs 8,960. In a day

she sells 8 sets and makes a profit of Rs 7,680.


https://dl.doubtnut.com/l/_KGYCg5wl5NKU
https://dl.doubtnut.com/l/_dY5glCq1TIpx
https://dl.doubtnut.com/l/_7B078gNNN8gM

Find the cost price and the gain per cent of 1

dinner set.

° Watch Video Solution

25. Reena spent Rs 1200 on getting a table
polished and then sold it for Rs 13,208 at 4 %

gain. Find the cost price of the table.

° Watch Video Solution



https://dl.doubtnut.com/l/_7B078gNNN8gM
https://dl.doubtnut.com/l/_RJwVyhdLzZxy

26. A mixed grain flour is made by mixing 2
parts of mixed grains and three parts of wheat
flour. If the mixed grains cost Rs 40 per kg and
wheat costs Rs 30 per kg, find at what price
the mixed grain flour needs to be sold to make

a profit of 10 %

o Watch Video Solution



https://dl.doubtnut.com/l/_r9Cjv38aYoyX

